AET THARBEER/\RETIHZIR

Trk25%10A22HMIE

> @5 IHNFEEN > mem > ASBRED-RD >

BEER| T AERT7E] % %
REERIF 2 | R ROE EOE
7:23 = = = 7:39 TRRBIR(ABED)
S8Rl 788
7:25 = 7:32 [RIE - FRASHEER
EEBrRr6ER
7 :46 = = 8:37 [RIE - FRAZSTEER
E8rR3 2&8
8:18 = = 8:37 REERRTE
S8R 1 8&H
8:58 = = = 9:14 TERERBR(AED)
S8Rl 788
9:35 = 9:42 [RIE - FRAZSBIR
- S8 6 BB
9:29 = 9:38| E@ 9:38 = 9:43 REERATSE
B8 &R {E@Brr6 BB
9:56 = = 10: 47 IRIE - FRAZSBIR
SEBm3 2808
10: 18 = = 10:37| - - - REERRTE
- S8 1 8 &R
10: 29 = 10: 38| Bl 10: 38 = 10: 43 REERATE
B8 &R {E@Brr6 BB
11 : 08 = = =4 11: 24 TEE?’EL%(E@D)
B8Rl 788
11113 = = 11:32 RMERRTE
S8/ 1 8 &R
11:45 = 11:52 [RIE - FRAZSBIR
=86 &8
12: 06 = = 12:57 [RIE - FRAZSBIR
E@B3 288
13:15 = 13:21 [RiE - FRAZEBEIR
{E8rr6 BB
14:18 = = = 14 : 34 TERERBR(ABED)
B8l 788
14: 45 = 14: 52 [RiE - FRASTRER
- {E8rr 6 BB
14 : 44 = 14 : 53| BiE 14 :53 = 14 : 58 REEEATE
EEBFR 8 &R {E88rr 6 BB
15: 06 = = 15:57 IRiE - FRAZERER
E@Bm3 288
15: 38 = = 15:57 REERRETE
E8f1 8&EB
16 : 25 = 16 : 30 TRERBR(EED)
{E8&8rr 6 BB
16 : 44 = 16 : 50| E& 16 : 55 = 17: 02 TREREER(EED)
=@ 5 &8 EEEm 6 BE (T 5Ph CIRIE - FIAZEERICE
16 : 49 = 16 : 58| BEiE 16: 58 = 17 :03 HEEETE
{S8Brr 8 &#HE S8R 6 &#B
17:16 = = 18:07 [RiE - FRAZERER
S8R 3 2 &8
17: 28 = = 17 :47 REERRETE
S8 1 8&#B
18: 19 = 18 : 28| BEiE 18: 28 = 18:33 REEATE
{E8BrR 8 &H E8Brr6&#B - -
18: 35 = 18:42 [RiE - FRAZRER
E8Brr6&#B
19 : 00 = 19 : 05 TRRBER(EEID)
— E8Brr6&#B
18 : 54 = 19 : 03| &; 19:03 = 19: 08 REERATE
{E8BrR 8 &HE E8Brr6&#B
18:56 = = 19: 47 IRiE - FRAZETRIR
S8R 3 2&B
19:19] = 19: 25| 3R | 19:25| = 19 : 30 TRERBE(EED)
8PS &8 EEBrFr6 &ER
19: 44 = 19:50 TRRBER(EED)
E8BrPs&EE

HEZR - f8 - FREWH (12/29~1/3) (HEAKTT



